//MA-Dev-R.mg4
#property indicator_separate_window ]

#property indicator_buffers 1

#property indicator_colorl SpringGreen  [€— #propertyéaraZ stit

#property indicator_width1 1

#property indicator_levell 0
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extern int MA_Period = 25;
extern int MA_Method =0;
extern int MA_Applied_Price = 0;

extern int Applied_Price =0;

int init()
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SetIndexBuffer(0,MA_Dev_R);
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SetIndexLabel(0,"MA-Dev-R");

IndicatorShortName("MA-Dev-R ("+MA_Period+","+MA_Method+","+Applied_Price+")");
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SetIndexStyle(0,DRAW_LINE,STYLE_SOLID);
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SetIndexDrawBegin(0,MA_Period + 10);

return(0);

}
int start()
{
if(Bars < MA_Period)

return(0);

int limit = Bars - IndicatorCounted();

for(int i = limit - 1; i >= 0; i--)

double MA = iMA(NULL,0,MA_Period,0,MA_Method,MA_Applied_Price,i};
MA = NormalizeDouble(MA, MarketInfo(Symbol(),MODE_DIGITS));

if(MA 1= 0)

switch(Applied_Price)
{
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return(0);

case 0:
double Value = Close[i];
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R{[i],MarketInfo(Symbol(),MODE_DIGITS));

break;

case 1:
Value = Openli];
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R{[i],MarketInfo(Symbol(), MODE_DIGITS));

break;

case 2:
Value = Highl[i];
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R[i],MarketInfo(Symbol(),MODE_DIGITS)); ]

break;

case 3:
Value = Lowl[i];
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R{[i],MarketInfo(Symbol(),MODE_DIGITS));

break;

case 4:
Value = (High[i] + Low[i]) / 2;
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R[i],MarketInfo(Symbol(),MODE_DIGITS));

break;

case 5:

Value = (High[i] + Low[i] + Close[i]) / 3;

MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R[i],MarketInfo(Symbol(),MODE_DIGITS));

break;

case 6:
Value
MA_Dev_R[i] = (Value - MA) / MA * 100;

MA_Dev_R[i] = NormalizeDouble(MA_Dev_R[i],MarketInfo(Symbol(),MODE_DIGITS));

break;

(High[i] + Low([i] + Close[i] + Close[i]) / 4;
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